
3x=4     …………………. equation 1 

Multiply by 3 for both side 

3x3x  =3x4 

3x+1=12 

Take logarithm in base of 3 for both side 

Log 3 3x+1= Log 3 12 

X+1 = Log 3 12…………… eqn A 

4y =12……………………… equation 2 

Substitute eqn 1 in eqn 2 

(3x)y = 12 

Take logarithm in base of 3 for both side 

Log 3 (3x)y = Log 3 12 

yLog 3 (3x)= Log 3 12 …………… eqn B 

but  Log 3 (3x)=x …………….  eqn C 

Substitute eqn C in eqn B 

xy = Log 3 12  …………….. eqn D 

Substitute eqn A and eqn D  in 
1+𝑥2𝑥𝑦  1+𝑥2𝑥𝑦  = 

Log 3 12  2Log 3 12   =12 


